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Course : 603
[ (A) Algebra—II and (B) Partial
Differential Equations ]

Full Marks : 80
Pass Marks : 32/24

Time : 3 hours

The figures in the margin indicate full marks
for the questions

(A) Algebra—II
( Marks : 40)

1. (a) Write when an isomorphic mapping of
a group becomes an automorphism. 1

(b) Define inner automorphism of a group. 2

(c) Show that f:G — G such that f(x)=x*

is an automorphism if and only if G
is Abelian. 5
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the equation 2(p+9q =2z
Solve :
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Solve (any two) :
(i) xp+tyq==2
i) y*p+xia=x"y’z’

i) (> -y? -2 ) p+2yg=2xz
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(e) Solve /Answer (any two) :
(1) (1+y)p+(1+x)q =z
(1) (y+z)p+(z+x)q =X+y
(@) Fing the e
satisfying
Passing
X+z=9

quation of the Surfacg
4yzp+q+2y=g ano
through y*+2% +1=0,

(@ Let f(x,)=g be a partia] differenuai
equation having n independenf
variableg. Then Write the number o
Constants tp

solution.
(b) Define ar integral ol
oy 2 p q)=0.
(c) Write first-order partial
ons are Compatible.
(d) Show th

the equatiqns Xp=yq and
Z(xp + yq) =2y are Compatip]e.

Or
Ind g Complete IMtegra] of px + qy = pd.
(e) IIZind ; Omplete Integra] of
1 +P 3 =lusing Jacobj’g method
4] F.md the ¢q Plete Integrq) of (any one) :
O (p2 e
(i1) px+qy+pq =Q
* o 4
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